restart .

Ecuacion = diff (u(x, y), x82) + diff (u(x,y),y) =u(x,y);
0

Ecuacion = % u(x,y) + 5 u(x,y) =u(x,y) €))

with(PDETtools) :
SoluicionGnerallnicial == build( pdsolve( Ecuacion));

c X
Aot N el c3e 2

SoluicionGnerallnicial .= u(x,y) = \ + )
yicl [ ¢ x yc
¢ Ve !
Ecuacion;
P k) + — ulny) —ulxy) @)
_Z/IX,y —ux,y :ux,y
e’ dy
EcuacionSeparable := eval(subs(u(x,y) =F(x)-G(y), Ecuacion) );
2
EcuacionSeparable := (% F(x)) G(y) + F(x) (diy G(y)) =F(x) G(y) )
(lhs(EcuacionSeparable) —F(x) (i G(y) ) )
EcuacionSeparada := dy
-F(x)-G(y)
[ (rhs(EcuacionSeparable) — F(x) (diy G(y) )) ]
=simpli
pHlY -F(x)-G(y)
d2 d
2 FE 6o - (d—y G(y))
FEcuacionSeparada = - = - 5
v F(x) G(») ©)
EcuacionX := lhs(EcuacionSeparada) = alpha; EcuacionY := rhs(EcuacionSeparada)
= alpha;
2
& P
oy X
EcuacionX - Flx) o
d
G(y) — (d—y G(y))
EcuacionY .= - =Q 6
G(y) ©
EcuacionXcero = subs(alpha=0, EcuacionX); EcuacionYcero := subs(alpha=0,
EcuacionY);
L
—2 F(x)
: R S,
FEcuacionXcero : Flx)
d
G(y) — (d— G(y))
EcuacionYcero = - Y =0 @)
G(y)

SolucionXcero = dsolve( EcuacionXcero); SolucionYcero ‘= dsolve( EcuacionYcero);
SolucionXcero =F(x)= _Clx+ C2



SolucionYcero = G(y) = CI & (t))

[ >

| C
> SolucionGcero := u(x,y) =rhs(SolucionXcero) -subs(_CI =1, rhs(SolucionYcero) );

SolucionGcero:=u(x,y)=( Clx+ C2) ¢ &)

_> EcuacionXpositiva := subs(alpha=beta- -2, EcuacionX); EcuacionYpositiva := subs(alpha
=beta- -2, EcuacionY);

2
d—z F(x)
EcuacionXpositiva == - LS [32
PO R ()
d
G(y) — oy G(y) 5
EcuacionYpositiva .= - = 10
I P GO B 10
> SolucionXpositiva := dsolve( EcuacionXpositiva); SolucionYpositiva
:= dsolve( EcuacionYpositiva);
SolucionXpositiva := F(x) = _CI sin(Bx) + C2 cos(Bx)
2
SolucionYpositiva == G(y) = _CI e<1 ¥y 11)

> SolucionGpositiva := u(x, y) =rhs(SolucionXpositiva) -subs(_CI =1,
rhs(SolucionYpositiva) );

2
SolucionGpositiva == u(x,y) = (_CI sin(Bx) + _C2 cos(Px)) e(1 +B)y (12)

_> EcuacionXnegativa := subs(alpha=-beta- -2, EcuacionX); EcuacionYnegativa = subs(alpha
=-beta- -2, EcuacionY);

2
& Fx)
EcuacionXnegativa .= - S = -Bz
& ' F(x)
d
G(y) — (d—y G(y)) :

EcuacionYnegativa .= - =_ 13
# G(y) P (13)

B SolucionXnegativa = dsolve( EcuacionXnegativa); SolucionYnegativa
:= dsolve( EcuacionYnegativa);

SolucionXnegativa .= F(x) = _CI P 4 2 e P

SolucionYnegativa := G(y) = CI e_(B DB+ (14)

_> SolucionGnegativa := u(x, y) = simplify(rhs(SolucionXnegativa) -subs(_CI =1,
rhs(SolucionYnegativa)) );

SolucionGnegativa == u(x, y) = (_C] eh? + C2 e_Bx) e B=D By (15)




